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(1) ZEhteEi(v) YTHOEREICEY v = 10 %
(2) B A58 (m)
. 0. 850-SL _ 2 _ SL _ 2
mi = 8.0 = 32.8 N/mf m%—l_ 507 = 33.8 N/mf
100 100
Xo>T m = 33.8 N/uwf
(3)KEAV FEE(W/C) m = -18.8 + 27.8 X C/W
W/C = 27.8 =+ (33.8 + 18.8) X 100 = 52.5 % = [55% (_-[RfH) ]
SW/C = 52.5 %
(4) HpKE (W) WTIEOFEREICELY W = 175 kg/m
(5)HfrE A F&E(C) C =W =+ (W/C) X 100 = 175 = 52.5 X 100 = 333 kg/m
Cv= C + P = 333 ~ 3.04 = 110 £ /m
(6) 2552 (A) A = 4.5 % X 1000 = 45 2/
(7T)HNHEME(G) UTHOFELEICIY NEIEHE = 0.642 m/m EREER = 59.0 %
Gv = 0.642 X 1000 X 59.0 = 100 = 379  #¢/m
G = Gv X RWEE = 379 X 2.70 = 1023 kg/m
(8) L E# = (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 709 = 291 £ /m
Slv = Sv X 70.0 % = 204 2/m S1= SIvXHREEE = 204 X 2.54 = 518 kg/m
S2v = Sv X 30.0 % = 87 2 /m S2= S2yXHKHEE = 87 X 2.67 = 232  kg/m
(9)HBEME(s/a) s/a = Sv + (Gv+Sv) X 100 = 43.4 %
(10) ipriRfnfli (Ad) Ad = C X W% X A = 333 X 0.8900 % X 1.00 = 2.96 kg/mb
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